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Paper Part g
LLshuw all your work when answering these questions. LAd\S Af__},n_::'f———__
DA sl S -
[ Question ' AR

Find (2 +2v3 i), and express it in : |
rectangular form.
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l Question 2 ) \
Saeed has earned five spins of the Agasall eyl Gy g puad da
wheel. He will receive a prize each time ol lgd T Bia JS A Bila (fo Janam

‘the spinner lands on an even. () B e

What is the probability that he receives ¢ g D Lo bl hasa of Jldal L
exactly three prizes?
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L Question [ 3 sl

A bungee jumper’s height h in meters

Lol b Jlaly U £US)) JAS oSy
Adslaall dacgs el a0
h(t) =6t>— 48t + 100
“ua 3l "'_ co,ﬁlm“’b
interval [0, 6], where time ¢ is given in t Ot olond o]

AL
seconds. R d'_;.b Uk-‘ X
Find the maximum and minimum P JARAS W) :
heights of the jumper.

relative to the ground can be modeled
by h(t) = 6 t* — 48 ¢t + 100 on the
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Question 4 il

_——__—'_‘-——-_______
Find four different pairs of pojar Aakil) GAHASY) o Ailiie g1y das sad
coordinates that name point P if Ol Caale 1Y) P Ak oy A
—360° < 6 < 360°. .—360° < 0 < 360°

90°
135° 45°
180°

270°
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